B 11/16(1) Bgig: 8:00 £ FBINER 1USE

# b5 irg=s 237 = TO - /¥ =¥
18] 900 BM — Nk CILT1 v DX HoR
21%2(1010 TR — 10 BM Nk
3|8[11:20 JA® — o N Eoilan
41%(12:30 16 — CILT1r v DX Nk N
5811340 P~ — BM 78 vILT1 v DX
6 |(&Z|[1450|tILT7v v DR — HToR R BM
B 11/16(1) BIig: 8:30 £ /WEILNER 20I=B

# b5 irg=s 237 = TO - /¥ =¥
118 930 #TH — AV AT 4 J\1t =)

2 &|10:35 =13 — N #hH ZLL4N—X
381140 Zba1iIx—=X — (=17 =l o~
41221245 K — J\1t A IACD 4 (=17
581350 (-1 - #TH x J\1t

6 |&Z|1455 J\Jb — =) 13 #TH
B 11/16(1) BIig: 8:30 £ WIINER SUSEB

# b5 irg=s 237 = TO - /¥ =¥

1 (8] 930N TF1Y IR — ki R JULA/IN—X
2 %&|10:35 K| — JULA/IN—X =i thVTF1V IR
3(8]111:40 R — VTV IR K K|
4121245 St — K| JULA/IN—X R
581350 K — R thVTF1v IR =i
6|&|1455 JUL+1/\—=X — =i K| K




